
E

D

C

B

A

87654321

A

B

C

D

E

F

1 2 3 4

Dateiname des Zeichnungsobjektes:          
BK35-0509_0509_01-E

Dateityp:
ASSEM

Dateiname der Zeichnung:                      
BK35-0509_0509_01-E

GEA WTT GmbH
Remsaer Straße 2a 

D-04603 Nobitz-Wilchwitz
Tel. 03447-5539-0

Fax. 03447-5539-30

Maßstab 1:2 Gew.:
Werkstoff: 
Halbzeug: -

 Datum   Name Benennung:                                   

Bottom Console
BK35

Bear. 01.09.2005 Dietrich

Gepr. 01.09.2005 Graichen

Norm

Zeichnungsnummer:                      

BK35_EN
Blatt1
 1  Bl.

Zust.    Änderung  Datum Nam.(Urspr.) (Ers.f.:) (Ers.d.:)

WP5
532 478 M8x16 

according 
drawing plate 

heat exchanger

NP5
GBS500/GBH500
NP4

335 281 M8x16 
GBS400/GBH400/WP4
NP3

173 120 M8x16 
GBS300/GBH300/WP3
Type B D stud bolts L
GEA WTT - Plate Heat Exchanger

The manufacturer herewith certifies that construction, production and examination of his pressure vessel are in conformity with EU guideline 97/23/EC.

4 Bolts M8
124

73

L

DB

90
130

75
.5

14
.5

14
.5

30 20

29
10

0

9

6


	Blatt 1
	Ansichten
	VORDERANSICHT
	ANSICHTLINKS



